Lecture 10

Announcements

· Homework 1 grading in process

· Homework 2 to be handed out on Monday

· Note-taking schedule on-line

Today

· Review practice exercises 

· For extra information see chapter 4 in course text and chapter 3 in Jamieson

Practice Exercises – Review

Exercise: Even or Odd

Possibility 1:

 $Num <>;

.chomp $Num;

.if (($Num%2) == 0) {

.print “$Num is even.\n”;

 } else { print “$Num is odd .\n”; }

Possibility 2:

 $Num <>;

.chomp $Num;

.if ($Num%2) {

.print “$Num is odd.\n”;

 } else { print “$Num is even.\n”; }

Possibility 3:

 $Num <>;

.chomp $Num;

.if ((-1**$Num) > 0 ) { print “even”;

 } else { print “odd”; }

Exercise: Counting Down

Version 1:

$Count = <>;

chomp $Count;

while ( $Count >= 0 ) {

  print "$Count\n";

  $Count--;

}

Version 2: 

Count = <>;

chomp $Count;

while ( $Count > 0 ) {

  print "$Count\n";

  $Count--;

}

Version 3:

$Count = <>;

chomp $Count;

while ( $Count > 0 ) {

  $Count--;

  print "$Count\n";

}

Logically Predicting the Outcomes

Version 1:

$Count Input









YES



NOTE: The count down will continue all the way down to zero. When you reach zero, the next number would be -1, and thus it ends. So the values would be 7,6,5,4,3,2,1,0. 

Version 2:

$Count








YES     





NOTE: The value printed post input will be 3 and will count down to 2 then 1, but NOT zero!

Version 3:

$Count










YES




NOTE: This value will first print 2, once the value of 3 was inputted. With an input of three, the values would decrease as such: 2,1 

Exercise: Quadratic Formula

There are three inputs a b c.
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print “choose a value”; 

$a = <>;

print “choose a value”;

$b = <>;

print “choose a value”;

$c = <>;

$x1 = (-$b + sqrt($b**2 – 4$a*$c)) / (2*$a);

$x2 = (-$b - sqrt($b**2 – 4$a*$c)) / (2*$a);

print “The values of x that satisfy the equation are $x1 and $x2.\n”; 

Exercise: Quadratics Take Two

If the under the square root there is a negative number, then the calculation cannot occur. The program must be modified to if ( 
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) is negative and if it is it must satisfy a second equation:
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With this equation, you can compute imaginary parts of the solution. 

- b     +    
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The counterpart to this equation would be the same thing only a negative sign between the real solution and the imaginary solution instead of an addition.

**Refer to the previous exercise, since this is just a continuation/modification.**

if ((sqrt(-$b**2 + 4*$a*$c) >= 0) { 

print “The values of x that satisfy the equation are $x1 and $x2.\n”;

{ else { ($real = -$b/2*$a)

$imag = sqrt(-b**2 + 4*$a*$c)/ 2*$a;

print “The solutions are $real + $imag i and $real - $imag i.\n”;

}

 there is a space in between the i and the $real±$imag because it would be look for a string called $imagi, which does not exist. So to get no space in between do the following

print “The solutions are $real + $imag”;

print “i are and $real - $imag”;

print “i”;

Exercise: Print a row of *'s

Possibility 1:

print “choose a number that will reflect how many *’s on a line”;

$Num = <>;

while ($Num > 0) { print “ ” ; $Num -- ; }

Possibility 2:

$Num = <>;

$Str = “ ” ;

while ($Num > 0) {

$Str = “Str*” ;

Possibility 3 :

$Num = <>;

$Str = “ ”;

while ( $Num > 0) { $Str = “$Str*”;

$Num --;

} print $Str;

Possibility 4:

$Num = <>;

$Count = 1;

While ($Count < $Num ) {

Print “*”;

$Count ++; }

Exercise: Print Triangles of Stars

Possibility 1:

$Num = <>;

$Row = 1;

While ($Row <= $Num) {

$Count = 1;

While ($Count <= $Row) 

Print “*”;

$Count ++;

}

$Row ++

print “\n”;

}

Possibility 2:

$Num, = <>;

$Row = 1:

$Str = “”;

while ($Row <= $Num) {

$Str = “$Str*”;

print “$Str\n”;

$Row ++; 

}

Ex. 7 


New input is 6





Starts at 3


New input is 2





Print the $Count inputted (which is 7 for this example)





The condition  tests if the value inputted is ≥ 0. 





Decrease by 1 (since the -- command was used)





Condition tests  if the value is > 0 





Start with 3,


The next value is 2





Remove a value of 1 ($Count - -) 





Perform the - - command (take way 1), so the new input is 2





Print the current $Count input





Condition tests the input if it is > 0. 





Print the value of $Count – 1. 





Real solution





Imaginary solution
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